m&PC. BALL VALVE 20 ] 3 KM

TESTED AND CERTIFIED FIRE SAFE TO API 607
APl 608 DESIGN

Size range : Ball & Stem Material : Seat Materials :

1/4"—1" . 2000 WOG 316 Stainless Steel Teflon (PTFE)

1-1/4"~2": 1500 WOG Relnforced Teflon (RTFE)

2-1/2"~4": 1000 WOG Service Applications : TFE+25% Carbon
Hydraulic Chemical DELRIN

End Connection : Steam Oil / Gas PEEK

2011KM - Socket Weld End  Oxygen Food Processing TFM1600

2012KM - Butt Weld End Vacuum Dry / Liquid Chlorine

2013KM - Screwed End Thermal Fluids NACE MRO175

Valve Materials : - Spring return handle (option)

316 Stainless Steel
Carbon Steel

A— E— —y e Se——

) TRD fi{rvee .I E
TR i CECRN /5 @ & 0 45 I A s

8F No 201, Sec. 2, Tiding Blvd., Nelhu Dlstrlct Talpel City 114, Taiwan R.O.C. E-mail : haitima@seed.net.tw
TEL: +886- 2 2658-5800 FAX: +886-2-2658-2266 / 2799-7766 http://www.haitima.com.tw




-v-43-PC. BALL VALVE 20] ] KM 20] 3KM

W

l PCD ¢D2

) M @ ISO 5211 Mounting Pad
& T el W
3 | U S I M o \ L) r @ ‘ | |
i LT B e &

NPT Thread
Fire Safe Design

Butt Weld End Socket Weld End
DN d d1 D D1 L H H1 H2 w S D2 M P I1SO 5211 Torque (N-M)
8 8 14 25 135 | 65.7 57 12.1 98 |1135] 57 36 M5*0.8 3/8"-24UNF FO3 3.8
10 10 18 25 175 | 65.7 57 12.1 98 |1135| 57 36 M5*0.8 3/8"-24UNF FO3 3.8
15 15 22 30.3 | 23.3 | 748 57 12.1 98 | 1135 57 36 M5*0.8 3/8"-24UNF FO3 3.8
20 20 275 36 28.7 | 80.2 | 59.7 | 145 | 10.6 |113.5| 5.7 36 M5*0.8 3/8"-24UNF FO3 5.1
unit:mm
NPS d d1 D D1 L H H1 H2 w S D2 M P I1SO 5211 Torque (in-1b)
1/4" | 0.31 | 055 | 098 | 053 | 259 | 224 | 048 | 0.39 | 45 | 022 | 1.42 M5*0.8 3/8"-24UNF FO3 33.8
3/8" | 0.39 | 0.71 | 098 | 0.69 | 259 | 224 | 048 | 0.39 | 45 | 0.22 | 1.42 M5*0.8 3/8"-24UNF FO3 33.8
172" | 0.59 | 0.87 12 | 092 | 294 | 224 | 048 | 0.39 | 45 | 022 | 1.42 M5*0.8 3/8"-24UNF FO3 33.8
3/4" | 079 | 1.08 | 142 | 1.13 | 3.16 | 235 | 057 | 042 | 45 | 022 | 1.42 M5*0.8 3/8"-24UNF FO3 45.1
unit:in
1 PCD 802 T ISO 5211 Mounting Pad
) ©®
(0 %] J gg ;
! ( ZEnN
9
7 = v () 0 ‘
G o Y|
ST _%__ T Stem arrangement for actuator valves.
|
‘ﬁ
.
HILHY. s NPT Thread ’ﬁ ﬁ
d) Fire Safe Design
A7 )6 )(4 3 2
OO T d .
L
Butt Weld End Socket Weld End
DN d d1 D D1 L H H1 H2 w S D2 M P 1ISO 5211 Torque (N-M)
25 24 345 | 448 | 348 93 815 | 155 14 146 5] 42 M5*0.8 7/16"-24UNF FO4 10.2
32 30 43 54 426 [ 110.6| 859 | 155 15 146 7.5 42 M5*0.8 7/16"-20UNF FO4 15.9
40 38 49 62 50 120 | 96.7 | 27.3 | 18.7 | 180 8.6 50 M6*1.0 9/16"-18UNF FO5 21
50 50 61.2 76 63.7 | 140 | 104.9| 28.1 19 180 8.6 50 M6*1.0 9/16"-18UNF FO5 32.1
unit:mm
NPS d d1 D D1 L H H1 H2 w S D2 M P I1SO 5211 Torque (in-1b)
1" 094 | 1.36 | 1.76 | 1.37 | 3.66 | 3.21 | 0.61 | 0.55 | 575 | 0.3 1.65 M5*0.8 7/16"-24UNF FO4 90.2
1-1/4" 118 | 1.69 | 213 | 1.68 | 435 | 3.38 | 0.61 | 059 | 575 | 0.3 1.65 M5*0.8 7/16"-20UNF FO4 141
1-1/2"| 15 193 | 244 | 197 | 472 | 381 | 1.07 | 0.74 | 7.09 | 0.34 | 1.97 M6*1.0 9/16"-18UNF FO5 186
2" 1.97 | 241 | 299 | 251 | 551 | 413 | 1.11 | 0.75 | 7.09 | 0.34 | 1.97 M6*1.0 9/16"-18UNF FO5 284.1
unit:in
A% Hlos TRD [, C € /A C @mx TA-Luft 50 15848 REACH
m ’ I%egus?er 100 55‘35?4:3' 0035 %ﬁREND s I2GD VDI 2440 LOWEMISSION (EC 1907/2006) a6ms

8F, No.201, Sec 2, Tldlng Bivd.,

TEL: +886- 2 2658-5800

Neihu Dlstrlct Taipei City 114, Taiwan R.O.C.
FAX: +886-2-2658-2266 / 2799-7766

: haitima@seed.net.tw
http.//www.haitima.com.tw



N

3-PC. BALL

VALVE

ISO 5211 Mounting Pad

2013KM
2011KM

A VIEW PCD D2
] E— Va——
r R ~. N I
N\ A
M.ﬁﬁ\%%ﬂ% PERFORMANCE DATA
P g\ggg N AT APPROXIMATE
Q ~ VALVE SIZE  FLOW COEFF.
] N\
=S S
E1 1/4 10
F1 3/8" 16
12" 37
W 3/4" 68
@ , @ " 101
+-—-—--T—-—-———-—\)\r-—- 1-1/4" 162
N T e = 1-1/2" 268
]
3 - o 486
T
IEEN 2-1/2" 817
A "
M W Rz T 3 1120
® 7 3 T o 1892
@ %U I unit:US gal/min
B | | | R S R | | I ITEM PARTS MATERIAL
T b 1 BODY
i > o ASTM A351-CF8M | ASTM A216-WCB
N QL\, 3 RETAIER ASTM A351-CF8M
F NPT Thread 4 BALL
; : _ 5 STEM ASTM A276-316
Fire Safe Design 6 SEAT PTFE / RTFE / CTFE / TFM 1600
@ DO ® ® 7 SEAL GRAPHITE
L 8 | THRUST WASHER CTFE
U 9 PACKING GRAPHITE
SQHEAD 10 GLAND RING AlSI 304
11 |BELLEVILLE WASHER AISI 301
12 | LOCKING WASHER ASTM A167-304
13 STEM NUT ASTM A194-8A
S 14 | WRENCH BLOCK
AVIEW 15 | LOCKING PAD
16 | HEX HEAD BOLT AISIS6S
% % 17 STOP PIN
L 4 18 HANDLE STAINLESS STEEL
19 BOLT ASTM A193-B8A
20 NUT ASTM AT94-8A
1 gz B N S - = 21 | HANDLE SLEEVE PVC
7 7 |
/) v/
Butt Weld End Socket Weld End
) . '« ) ) ) O Q =
65 | 64 | 74 | 92 | 74 [184.6(1133.9] 425 15 |2225| 14 | 70 | 32 | 64 | 70 | 85 | M8*1.25 | M20%2.5 FO7 53.5
80 | 75 | 90 | 104 | 90 | 204 [172.1] 46.4 | 17.5| 344 | 19 [ 102 | 445[80.6| 96 | 102 | MI0*1.5 | 1"14UNF F10 1115
100 | 96 |115.5] 136 | 118 | 240 [1855] 47 | 175 344 | 19 | 102 | 445[80.6| 96 | 102 | MI0*1.5 | 1"14UNF F10 114
unit:mm
. . ) ) ) U aue
2-1/2'( 252 | 2.91 [ 3.62 [ 2.91|7.27 [ 527 [ 1.67 | 059 | 8.76 | 055 | 2.76 | 1.26 | 2.52 | 2.76 | 3.35 | M8*1.25 | M20*2.5 FO7 473.6
3" [295[354]4.09354[803]6781.83]0.69[1354]0.75[4.02[1.75[3.17[3.78[4.02| MI0*1.5 | 1-14UNF F10 986.9
4" 378455535 [4.65|9.45| 7.3 [ 1.85|0.69 [13.54| 0.75 | 4.02 [ 1.75 | 3.17 | 3.78 | 402 | M10*15 | I"-14UNF F10 1009
unit:in

* o

2 tgsk TRD 1

8F, No.201, Sec 2, Tldlng Bivd.,
EIN  TEL: +886.2-2658-5800

B C € CRN

g =r-13508= 0035 REGISTERED

TEX TA-Luft 13015848 REACH

i @ b6

Neihu Dlstrlct Taipei City 114, Taiwan R.O.C.
FAX: +886-2-2658-2266 / 2799-7766

12GD VDI 2440 LOWEMISSION (EC 1907/2006)

BOHS

-mail : haitima@seed.net.tw

http://www.haitima.com.tw



